Freshersnow PO mockt test

Reasoning

Seating Arrangement

Direction(1-5):Study the following information carefully and answer the
guestions given below.

A certain number of persons are sitting in a row facing north. Q sits fifth to the right of
V. Three persons sit between V and A. S sits fifth to the left of A. Only one person sit
between V and D. X sits third to the right of D. Only three persons sit between X and
C. Q is third from the right end. Only six persons sit between P and T. P is an
immediate neighbour of X. S is not the immediate neighbor of D.

fafRed TSR &1 e gdd sreaaH Hifor 3R =i fau 7T usi & IR ifor|

T AT Te # oafad SR & 3R IHW SR U Ufad A 98 €1 Q, V & o 9 U
VTR ISIZIVIRAF ST AT AR IS 81 S, AD I8 T Uad WH W 3T 81 V
3R D & ol Had U AT 937181 X, D H A AW VM W I31 81 X R C F &
Fad d AT 93 81 Q T BR A TR WM W g1 P 3R T & S had ©§ Afad 5
g1 P, X &1 AdedA US 81 S, D & Adhead s el g

1)If S is at the extreme left end, then how many persons are sitting in the row?

)afe s SifeH I’ BR R 7, o Uik H fobe Sleky 698 82

1.11

2.17
3.13
4.14
5.12
Solution:

From the given statements, Q sits fifth to the right of V. Three person sit between V
and A. S sits fifth to the left of A. We get 2 possible cases — Case 1 and Case 2.



Case-1 o 1 1

Case-2 mjmfd it

sV A Q
Only one person sit between V and D. X sits third to the right of D. S is not the
immediate neighbor of D. So, from this condition case-2 is eliminated.

5 ACopD vV x Q

Only three persons sit between X and C. Q is third from the right end. Only six
persons sit between P and T. P is an immediate neighbour of X. So, the final
arrangement is-

B LI I

] T A C D V x P Q

2)If B sits exactly between T an\d S, then what is the position of B with respect to A?
2B, TARSFHF AP ATH ST, TA D ITH & B BT T R g2

1. Third to the left
EIRE: IR

2. Third to the right
T O R

3. Second to the left
EIEESERIR

4. Fourth to the right
T AT

5. None of these
ZTH Q PIs gl

Solution:
From the given statements, Q sits fifth to the right of V. Three person sit between V
and A. S sits fifth to the left of A. We get 2 possible cases — Case 1 and Case 2.



Case-1 o 1 1

W N N N N . |
Casezlllll

1
sV A Q
Only one person sit between V and D. X sits third to the right of D. S is not the
immediate neighbor of D. So, from this condition case-2 is eliminated.

5 ACopD vV x Q

Only three persons sit between X and C. Q is third from the right end. Only six
persons sit between P and T. P is an immediate neighbour of X. So, the final
arrangement is-

B LI I

] T A C D V x P Q

3)How many persons sit between S and the one who sits immediate left of X?

3)S 3R X & 3l 918 96 fad & Aed fopd sufad 96 82

1. Nine

2. Seven
qId

3. Eight
3TS

4. Ten
o

5. N_one of the§e
STH I DI a1

Solution:
From the given statements, Q sits fifth to the right of V. Three person sit between V
and A. S sits fifth to the left of A. We get 2 possible cases — Case 1 and Case 2.



Case-1 o 1 1

W N N N N . |
Casezlllll

1
sV A Q
Only one person sit between V and D. X sits third to the right of D. S is not the
immediate neighbor of D. So, from this condition case-2 is eliminated.

5 ACopD vV x Q

Only three persons sit between X and C. Q is third from the right end. Only six
persons sit between P and T. P is an immediate neighbour of X. So, the final
arrangement is-

B LI I

] T A C D V x P Q

4)If R sits third to the left of S, then how many persons are sitting between R and D?

AT R, SPH I T TR WH R I318, @ R 3R D & A fobd- =fad 96 &2

1. Twelve

aRe

2. Ten
o

3. Fifteen
Uge

4. Nine

5. None of these
ZTH Q PIs gl
Solution:

From the given statements, Q sits fifth to the right of V. Three person sit between V
and A. S sits fifth to the left of A. We get 2 possible cases — Case 1 and Case 2.



W N N N N . |
Casezlllll

1
sV A Q
Only one person sit between V and D. X sits third to the right of D. S is not the
immediate neighbor of D. So, from this condition case-2 is eliminated.

5 ACoD V x Q
Only three persons sit between X and C. Q is third from the right end. Only six

persons sit between P and T. P is an immediate neighbour of X. So, the final
arrangement is-

B LI I

] T A C D V x P Q

5)Who among the following is fifth to the right of A?

5)FHfRad 9 & A & Gl 9 Uled ®IF R 82
1.S
2.P
3.R
4. X

5.Q

Solution:
From the given statements, Q sits fifth to the right of V. Three person sit between V
and A. S sits fifth to the left of A. We get 2 possible cases — Case 1 and Case 2.

5 A V Q
- | 1 1 1 1 | | | |
Case-2 =—t—t—+—1+—1+-
S V A Q

Only one person sit between V and D. X sits third to the right of D. S is not the
immediate neighbor of D. So, from this condition case-2 is eliminated.

5 ACopD vV x Q



Only three persons sit between X and C. Q is third from the right end. Only six
persons sit between P and T. P is an immediate neighbour of X. So, the final
arrangement is-

++-+++—+ -+ttt
s TAcCp V xP Q
Syllogism

Direction(6-10):In each question below are given two/three statements
followed by two conclusions numbered | and Il. You have to take the given
statements to be true even if they seem to be at variance with commonly
known facts. Read all the conclusions and then decide which of the given
conclusions logically follows from the given statements, disregarding
commonly known facts. Give answer-
Direction(6-10): fw e ud® wy A qi/di= wy= fag e § forid arg @
et | 3R 11 fau 7w &1 3muep) feT U U=l & g AT €, WA 1 § "dyd
Tl A g gl g1 g1 Jeft fFrepul &1 ufeu sk fvr au #ifvr f& faw 1w
el 7 ¥ B9 I1 fAsed I U @ J1 9 1 warg fee faer fow e
HYH] BT AP Y A STHIV ST ¢ | ST -

6)

Statements:

Some prime are consonant.

All consonant are cup.

No cup is a cap.

Conclusions:

|. Some consonant being cap is a possibility.
[I. All cup being prime is a possibility.

6)

Y.

P MUY oM |

gt o PU B |

PIs HY HU T8l ol

A

|. $B o & BHY 8 I YHET 3|
Il Y HU P U BIH BT UG B

1. if only conclusion | follows.

gfe Had femy | SR BT 3

2. if only conclusion Il follows.

H%Wﬁmﬂfnawm%



3. if either conclusion | or Il follows.

e a1 at FhY | 47 11 SR Rl |

4. if neither conclusion | nor Il follows,

gfe 7 Y Frep | 3R &Y 1 SR Rl §,

5. if both conclusions | and Il follow.

gfe freept | 3R 11 ST SR AR R |

Solution:

7)

Statements:

Some prime are consonant.
All consonant are cups.

No cup is a cap.
Conclusions:

I. No cap is consonant.

Il. Some prime are not caps.
7)

Y.

P ST oM |

Tt TS FU B

®Is HY HY ol g

ey

|. BIs HU o el g

Il. T 3HT &Y el 7

1. if only conclusion | follows.

i Had femy | SR BT 3|




2. if only conclusion Il follows.

e Had FpY 11 3aR0I HRT ]

3. if either conclusion | or Il follows.

g a1 df w1 7 11 SR ST B |

4. if neither conclusion | nor Il follows,

gfe 7 Y Frep | 3R T &Y 1 SR Rl ©,

5. if both conclusions | and Il follow.

gfe freept | 3R 11 ST SR AR R |

Solution:

8)

Statements:

All number is digits.

No digit is a numeric.
Conclusions:

|. Some number is not numeric.
[I. No number is a numeric.
8)

Y.

Tuft TRem 3w g

PTs 3fh i 81 g
v

. $B S JiRkAP -Tg! ¢
II. TS T TikeTes gl B

1. if only conclusion | follows.

aﬁmﬁr@ﬁlmw%



2. if only conclusion Il follows.

e Had FpY 11 3aR0I HRT ]

3. if either conclusion | or Il follows.

g a1 df w1 7 11 SR ST B |

4. if neither conclusion | nor Il follows,

gfe 7 Y Frep | 3R T &Y 1 SR Rl ©,

5. if both conclusions | and Il follow.

gfe freept | 3R 11 ST SR AR R |

Solution:

9)

Statements:

No foil is a wrap.

Some wraps are tabs.
Conclusions:

|. Some tabs are not foils.

II. All foil being tabs is a possibility.

9)
aﬂéw%ﬁ‘sﬁ%w%ﬁa%

. Wﬁawqﬁ%
Il 4} BIad & ¢ 8§11 B GHITTT 5|

1. if only conclusion | follows.

gfe Had femy | SR BT 3

2. if only conclusion Il follows.

H%Wﬁmﬂfnawm%



3. if either conclusion | or Il follows.

e a1 at FhY | 47 11 SR Rl |

4. if neither conclusion | nor Il follows,

gfe 7 Y Frep | 3R &Y 1 SR Rl §,

5. if both conclusions | and Il follow.

gfe freept | 3R 11 ST SITERUT AR R |

Solution:

10)

Statements:

Some box are book.

All book are pencils.

Conclusions:

I. All box being pencils is a possibility.
Il. Some pencils are books

10)
75 ot g ¥ wh g R d
3 S gP ol I g |
frpd:

. gt ST & URYS 8 Pt GHTTT B
Il. S IR 9 §

1. if only conclusion | follows.

gfe Had ey | SR HT 5

2. if only conclusion Il follows.

gfe Had fswy |1 IR0l HaT g

3. if either conclusion | or Il follows.

gfe a7 af et | 7 11 SR BT B

4. if neither conclusion | nor Il follows,

gfe 7 fspt | 3R T €1 11 3R HRaT B,



5. if both conclusions | and Il follow.

g fshY | 3R 11 SFT SFTER0 &vd g |

Solution:
“ Book

Coding & Decoding

Direction(11-15):Study the following information carefully and answer the
guestions given below:

In a certain code language:

Direction(11-15): Fafifad SHSRI &1 @Yd® 31eqg4 H< 1R Ad U T usit
& IR a;

T A1Yd Ple HIw #:

‘home bank are available” is coded as “kb pb cn tc”

“home bank are available” &1 “kb pb cn tc” & =0 4 Pedg fodr T g

“think near freedom” is coded as “og xp mp”

“think near freedom” &1 “og Xp mp” ook Pldx far mar

“‘bank near home” is coded as “cn kb og”

“bank near home” ®! “cn kb og” & =0 & Pedg fodr g

“think near are bank” is coded as “kb pb og xp”

“think near are bank®! “kb pb og xp” & =g Pdx far mar g

11)What is the code for “home are available” in the given code language?

1 1)Eﬁ Tlé RN H “home are available” & ﬁm R hc %?



1. cn pb xp
2.tc pb mp
3.cn kb pb
4.tcpbcn

5. None of these

T A DIg T

Solution:

Words Code
home cn
bank kb

are ph
think Xp
freedom mp
near og
available tc

12)What is the code for “near” in the given code language?

12)2 TS G U1 & “Near’ & foTT 01 Fe 872

1. xp
2.00
3.tc

4. mp

5. kb
Solution:

Words Code
home cn
bank kb

are ph
think Xp
freedom mp
near og
available tc




13)What is the code for “home bank” in the given code language?

13)d} 1 e U & “home bank’ 3 ToTT T e g7

1.cnkb
2.0gcn

3.tcpb

4. mp xp

5. None of these
9 A PIs ol
Solution:

Words Code
home cn
bank kb

are ph
think Xp
freedom mp
near og
available tc

14)If “we think new” is coded as “xp rw gs” then what may be the code for “we new
near” in a certain code language?

14)TfS “we Think new” &1 “xp rw gs” & U I hldk forar STTar €, f T fAfEd DC
HTST H “we new near” %ﬁm R hc €3f W%‘?

1. rwxp mp
2. gs kb og
3. gs rw og

4.0Q9tcqgs



5. Can’t be determined

feffa 6t forar ST Iban
Solution:

Words Code
home cn
bank kb

are ph
think Xp
freedom mp
near og
available tc

15)What is the code for “available are near” in the given code language?

15)d} 18 e UTST H “available are near” & oY &1 %e 82
1. tc og xp
2.0gtccen

3. Either (a) or (b)

I dl (a) 7 (b)
4. mp og tc

5. tc pb og
Solution:

Words Code
home cn
bank kb

are ph
think Xp
freedom mp
near og
available tc




Puzzles

Direction (16-20) :Study the following information carefully and answer the
guestions given below:

Seven students B, C, D, K, M, O and P take coaching classes on different days of the
same week from Monday to Sunday but not necessarily in the same order.
Two students take classes between O and P. Only one student takes class between D
and P. P takes class Either Tuesday or Wednesday. More than three students take
classes between B and M. K takes class just before C’s class. No one takes class
between M and O.
Direction (16-20) :
B INIEREIRCAREA B P E A R R SRR R AR IS E) eSS REA [
T3 B, C, D, K, M, O 3R P UHaRIRITRIH U6 g 3aT-

EERIE R o Pl |
0 3R P HeldaBHBEdR | D 3R P HadehddibaHGEdR | P
A TAIRATGYIR BB | B 3R M haradasifisamdmandds | K, C
PIHRSIHUTABETAAR | M 3R O Fagd s iwmemrgiadr |

16) Who among the following takes the class on Friday?
16) I AP ARG B aaaR 2

a) B

b) D

c) C

d) M

e) None of these

Solution:

From the given statements, P takes class either Tuesday or Wednesday. Only one
student takes class between D and P. Here we get 3 possibilities i.e., Case 1, Case 2
and Case 3. Two students take classes between O and P. More than three students
take classes between B and M. No one takes class between M and O.



Days Case 1 Case 2 Case 3
Students | Students | Students

Monday B D B/

Tuesday P B B/

Wednesday P P
Thursday D

Friday 0 D

Saturday M 0 0

Sunday M M

From the given statements, K takes class just before C’s class. From this condition Case
1 and Case 3 are ruled out now. So, the final arrangement is —

Days

Students

Monday

Tuesday

Wednesday

Thursday

Friday

Saturday

Sunday

Slolo|lmw|w|o

17) How many students take classes between O and D?

17) O 3R D HH

a) F!ve
BIE)

b) Three
o=

c) Four
IR

d) One
1{C7)

e) None

Solution:

?

From the given statements, P takes class either Tuesday or Wednesday. Only one
student takes class between D and P. Here we get 3 possibilities i.e., Case 1, Case 2
and Case 3. Two students take classes between O and P. More than three students
take classes between B and M. No one takes class between M and O.



Days Case 1 Case 2 Case 3
Students | Students | Students

Monday B D B/

Tuesday P B B/

Wednesday P P
Thursday D

Friday 0 D

Saturday M 0 0

Sunday M M

From the given statements, K takes class just before C’s class. From this condition Case
1 and Case 3 are ruled out now. So, the final arrangement is —

Days

Students

Monday

Tuesday

Wednesday

Thursday

Friday

Saturday

Sunday

Slolo|lmw|w|o

18) If all the students are arranged in alphabetical order from Monday to Sunday, then

find how many students remain in the same position?

18) i

e) None of these

Solution:

¥

From the given statements, P takes class either Tuesday or Wednesday. Only one
student takes class between D and P. Here we get 3 possibilities i.e., Case 1, Case 2
and Case 3. Two students take classes between O and P. More than three students
take classes between B and M. No one takes class between M and O.



Days Case 1 Case 2 Case 3
Students | Students | Students

Monday B D B/

Tuesday P B B/

Wednesday P P
Thursday D

Friday 0 D

Saturday M 0 0

Sunday M M

From the given statements, K takes class just before C’s class. From this condition Case
1 and Case 3 are ruled out now. So, the final arrangement is —

Students

Days
Monday

Tuesday
Wednesday
Thursday
Friday
Saturday

Slolo|lmw|w|o

Sunday

19) Four of the following five are alike in a certain way and hence they form a group.
Which one of the following does not belong to that group?

19)
N S O = - ¥ PeRiRTide
R,
a) D-K
b) O-M
c) C-B
d) P-O
e) M-K
Solution:
From the given statements, P takes class either Tuesday or Wednesday. Only one
student takes class between D and P. Here we get 3 possibilities i.e., Case 1, Case 2

and Case 3. Two students take classes between O and P. More than three students
take classes between B and M. No one takes class between M and O.



Days Case 1 Case 2 Case 3
Students | Students | Students

Monday B D B/

Tuesday P B B/

Wednesday P P
Thursday D

Friday 0 D

Saturday M 0 0

Sunday M M

From the given statements, K takes class just before C’s class. From this condition Case
1 and Case 3 are ruled out now. So, the final arrangement is —

Students

Days
Monday

Tuesday
Wednesday
Thursday
Friday
Saturday

Slolo|lmw|w|o

Sunday

20) Which of the following statement is true as per the given information?
20) EETAGHRIG S TIRMAAIRITHES UGG ?

a) B takes class after K

B, K HeIG®HaedIe

b) Only one day gap between O and C
03RC 3R

c) Ktakes classes on Monday

K SHaR®BIB TS

d) Both (a) and (c) true
T (a) 3R (c) T

e) None is true

STHADIETEN

Solution:

From the given statements, P takes class either Tuesday or Wednesday. Only one
student takes class between D and P. Here we get 3 possibilities i.e., Case 1, Case 2
and Case 3. Two students take classes between O and P. More than three students
take classes between B and M. No one takes class between M and O.



Days Case 1 Case 2 Case 3
Students | Students | Students
Monday B D B/
Tuesday P B B/
Wednesday P P
Thursday D

Friday 4] D
Saturday M 0 0
Sunday M M

From the given statements, K takes class just before C’s class. From this condition Case
1 and Case 3 are ruled out now. So, the final arrangement is —

Days

Students

Monday

D

Tuesday
Wednesday
Thursday
Friday
Saturday
Sunday

ZSlololm|w|lw

Seating Arrangement

Direction (21-24) : Study the following information carefully and answer the
guestions given below-

Eight persons i.e., J, K, L, M, N, O, P and Q are seated around a circular table but not
necessarily in the same order. Equal number of persons are facing inside and outside
from the table.

J sits third to the right of M. There are two persons sit between M and P. K and N faces
each other. L sits second to the right of N, who sits immediate right of J. O is not an
immediate neighbour of N. None of the immediate neighbours are facing the same
directions.

Direction (21 to 24) : FrEfRIaSHeRic eMyd s semaeh SR wuy s ad-

3dfd, 3, K, L, M, N, O, Paﬁ?Q
ARpToReTE e dim el &mmahw%
J, M FERIARRBIFIREGTE | M 3R P Selgarafadads | K iR N ThgaRd 1$R3Es |

L,NW@W,G‘UWIO,N
PBeaius e g PR eearus RigaHfeRmsiasRSTaTgie |

21) How many persons sit between M and L?

21) M 3R L H&fFdafadads?



a) One

U

b) Two

c) Three

o

d) Four
IR

e) None

Solution:
From the given statements, J sits third to the right of M. There are two persons sitting
between M and P. K and N faces each other. Here we get 2 possible cases — Case 1

and Case 2.

Case 1 Case 2

KfN K/N K/N K/N

- M

L is second to the right of N, who sits immediate right of J. Hence Case 2 gets cancelled.
Case 1

L

M

O is not an immediate neighbour of N. None of the immediate neighbours are facing the



same directions. So, final arrangement will be,

22) Who among the following sits third to the left of J?
22) FEffIaaRe J FIRdRRRIFRISE?

a) Q

b) K
c) L

d) M

e) None of thes_e

Solution:
From the given statements, J sits third to the right of M. There are two persons sitting
between M and P. K and N faces each other. Here we get 2 possible cases — Case 1

and Case 2.

Case 1 Case 2

KiN K/N K/N K/N

" M

L is second to the right of N, who sits immediate right of J. Hence Case 2 gets cancelled.



Case 1

M

O is not an immediate neighbour of N. None of the immediate neighbours are facing the
same directions. So, final arrangement will be,

23) Who among the following are immediate neighbours of both O and Q?
23) FARIRITEIDH O 3R Q THIPBINBeaAUS g ?

a) M
b) N
c) J
d P
e) K
Solution:
From the given statements, J sits third to the right of M. There are two persons sitting

between M and P. K and N faces each other. Here we get 2 possible cases — Case 1
and Case 2.



Case 1 Case 2

KfN K/N K/N K/N

- M

L is second to the right of N, who sits immediate right of J. Hence Case 2 gets cancelled.
Case 1

L

M

O is not an immediate neighbour of N. None of the immediate neighbours are facing the
same directions. So, final arrangement will be,

24) Who among the following faces outside?
24) FEfRITH S e B 13RS T ?

a) M
b) N

c) L



d) K
e) J

Solution:
From the given statements, J sits third to the right of M. There are two persons sitting
between M and P. K and N faces each other. Here we get 2 possible cases — Case 1

and Case 2.

Case 1 Case 2

K/N K/ KN K/N

i M

L is second to the right of N, who sits immediate right of J. Hence Case 2 gets cancelled.
Casel

L

M

O is not an immediate neighbour of N. None of the immediate neighbours are facing the
same directions. So, final arrangement will be,




Inequality

Direction(25-26):In these questions, relationship
between different elements is show in the
statements. The statements are followed by
conclusions. Study the conclusions based on the given
statements and select the appropriate answer:
Direction(25-26):[) L0000 OO0, DOO0O0 DH0
HUOLOOH DEOULD U DOO 0UDUO DoooUh CO

LD HHOOH Do o Hoooooon oD UUD Uoon Hot
U OHHo0 o HHod o HOooooHood Do Hoodun

HHOH UO UHo0 ooy n Dud foon:

25)

Statements ([ [:A>B<C=D<E C2F=G
Conclusions [IICICICICICCT:

.B>G

II.E>G

1. If only conclusion | follows.
LO0 DOO0D DOOOooo0 1 DOoo00D D000 OO



2. If only conclusion Il follows.
LO0 D000 DOOooooo n boooon 0odd oo

3. If either conclusion | or Il follows
L0 OO UL OO OOOH T OO 0 UooOo0 odoo o

4. If neither conclusion | nor Il follows.
L0 O OO OO OOOO0 1 O O O i OOOOod Ooos 0

5. If both conclusions | and Il follow.
OO DODOOO0o0 T o 0 Dooo0 doooon Dods Hods

Solution:B > G (False)
II. E > G (True)

26)

Statements [[[[:H>T>S<Q, T=2U
Conclusions: LILICCOO:

l.U<H

II.S<H



1. If only conclusion | follows.
LO0 DOO0 DOOOoooo 1 DUoooh DooU oo

2. If only conclusion Il follows.
OO OO DODO0OOO 1 ooooon 0000 oo

3. If either conclusion | or Il follows
O] CE) 0] O OOOOHE 1 O 0 DoodHs OO00 Do

4. If neither conclusion | nor Il follows.
L0000 DODOOHoe 1 He O Do i Ooodsoo oo Do

5. If both conclusions | and Il follow.
OO OODOOOoo T oo 0 Doood dUoooL Dods Dods

Solution:l. U < H (True)
I S<H (True)

Puzzle

Direction (27- 31):Study the following information carefully to answer the
given questions:

Seven boxes S, P, L, Q, R, M and | placed one above the other but not necessarily
in the same order. The bottommost box is numbered as 1 and so in the topmost box
is numbered as 7. Three boxes placed between | and M. Box M is placed below box
I. No box is placed between box M and box S. Box S is placed at even number
positions. Box Q is placed above box P and both are placed at an even position. No



box is placed between box P and box R, which is not placed at the bottommost
position. Box L does not place at topmost position.

Direction(27-31):feT 7T s & I <7 & fore Fgfafad SHeR &1 eagds
3T I

IS S, P, L, Q, R, M 3R | 7 T B R & SHUR W1 74T § Qb A gt
= o H 811 Ta8 I aTd Ja P T 1 @ 3R 39 UBR I HW a1 Siad bt
BT 781 1 3R M P o9 i 916 [ T § | S M &l §1a | & = 39T 1 § | Siag
M 3R ST S & o1 IS SiaT Tel QT T § | STaT S Dl IH TBAT P R TR @M 7T
21 S Q I S19Y P & SR AT 7T § 3R G bl T TH R TR 3T 7T § | STy
P 3R JI R & o9 BIs i &) ST 781 W ¢ 8, o e FFgdl R WR =181 a1 T
21 ST L BT ge9 SR R R a1 39T 7T 8|

27)Wh|ch box placed JUSt above box M?
27)STRT M & 3lh HUR HI-I7 S1a 3T T 82

1.L

2.P

3.Q

4. R

5. None of these

S8 U PIS Tl

Solution:

From the given statements, three boxes placed between | and M. Box M is placed

below box I. No box is placed between box M and box S. Box S is placed at even
number positions. Here we get 3 possible cases.

Number Casel Case 2 Case 3
Boxes Boxes Boxes
7 I I
6
5 I
4 5
3 M M
2 5 5
1 M

Box Q is placed above box P and both are placed at even position. No box is placed



between box P and box R, which is not placed at bottommost position. Box L does
not place at topmost position. Here Case 2 and Case-3 are ruled out now. So, the
final arrangement is-

Number Box
7 I
6 Q
5 R
4 P
3 M
2 5
1 L

28)How many boxes placed between L and P?

28)L 3R P & He fha dieyg W 7T §72

1. None

PIS el

2. One
Udh

3. Two

al

4. Three
GG

5. Can’t be determined

fRuffa =8 fosan o gar

Solution:

From the given statements, three boxes placed between | and M. Box M is placed
below box I. No box is placed between box M and box S. Box S is placed at even
number positions. Here we get 3 possible cases.



Number Case 1 Case 2 Case 3
Boxes Boxes Boxes
7 I I
6
5 I
4 5
3 M M
2 5 5
1 M

Box Q is placed above box P and both are placed at even position. No box is placed
between box P and box R, which is not placed at bottommost position. Box L does
not place at topmost position. Here Case 2 and Case-3 are ruled out now. So, the
final arrangement is-

Number Box
7 I
6 Q
5 R
4 P
3 M
2 5
1 L

29)Which of the following pairs of boxes placed on the bottom-most and the topmost
place respectively?

29)§maﬁﬁaﬁq-ﬁammwmzmﬁ:ﬁ%aﬁwq% SR e R TR @l
T 82

1.L,Q
2.Q,P



3.1,Q

4. 1,1

5. Can’t be determined

fRuffya &1 fosar o gewan

Solution:

From the given statements, three boxes placed between | and M. Box M is placed
below box I. No box is placed between box M and box S. Box S is placed at even

number positions. Here we get 3 possible cases.

Number Casel Case 2 Case 3
Boxes Boxes Boxes
7 I I
6
5 I
4 5
3 M M
2 5 5
1 M

Box Q is placed above box P and both are placed at even position. No box is placed
between box P and box R, which is not placed at bottommost position. Box L does
not place at topmost position. Here Case 2 and Case-3 are ruled out now. So, the
final arrangement is-

Number Box
7 I
6 Q
5 R
4 P
3 M
2 5
1 L




30)Which of the following box is placed on the topmost position?

30)EfARId & ¥ HH-I1 ST Ta9 SR RIF TR 38T T[T 82
1.1

2.Q

3.P

4.L

5. N'one of thege
9 A PIs ol

Solution:

From the given statements, three boxes placed between | and M. Box M is placed
below box I. No box is placed between box M and box S. Box S is placed at even
number positions. Here we get 3 possible cases.

Number Case 1 Case 2 Case 3
Boxes Boxes Boxes
7 I I
6
5 |
4 5
3 M M
2 5 5
1 M

Box Q is placed above box P and both are placed at even position. No box is placed
between box P and box R, which is not placed at bottommost position. Box L does
not place at topmost position. Here Case 2 and Case-3 are ruled out now. So, the



final arrangement is-

Number Box
7 I
6 Q
5 R
4 P
3 M
2 5
1 L

31)Which of the following combinations is true?

3N afafad & T oF a1 9aie 93 82

1.1-S

2.4-R

3.3-M

4. 6-

5. None of these

S8 I DS el

Solution:

From the given statements, three boxes placed between | and M. Box M is placed

below box I. No box is placed between box M and box S. Box S is placed at even
number positions. Here we get 3 possible cases.



Number Case 1 Case 2 Case 3
Boxes Boxes Boxes
7 I I
6
5 I
4 5
3 M M
2 5 5
1 M

Box Q is placed above box P and both are placed at even position. No box is placed
between box P and box R, which is not placed at bottommost position. Box L does
not place at topmost position. Here Case 2 and Case-3 are ruled out now. So, the
final arrangement is-

Number Box
7 I
6 Q
5 R
4 P
3 M
2 5
1 L
Puzzles

Direction (32-35) : Study the following information carefully and answer the
guestions given below:



Nine teachers i.e. A, B, C, D, L, M, N, O and P take lectures on different dates- 1st, 4th
or 5th of the month- March, June and December but not necessarily in the same order.
N takes lecture on an even date in the month which has 30 days. Two persons take
lectures in between N and O. B takes lecture just before P but not in the same month. P
does not take lecture before N. More than two persons take lectures between O and P.
Both D and M take lectures in the same month. One person takes the lecture in between
A and C. Not more than four persons take Iectures in between C and D.

Direction (32-35) : H‘;IIQ1IGd\ﬂIﬂOblild?lWlﬂld\dd?HWQﬂdvi

:ﬁﬁrwa{zﬁ?m B,C,D,L,M,N, OG?ITPII'ITzf SRR IS eT-SrerTfafy- 1, 475

0|°Id4I{EBJI"IGCIESGIOD"I\SN‘-\(I"IGIId’i(‘ll@bHHSl |

N SHE HHUGIafd G IR adig foras 30 feagldg | N 3R O
b dﬁmoqlordom{gmmdsl B, P AdIdhUgdaRHadiedib-TaaHaeael | P, N
AUgaArRAFelddIe | O 3R P Hetde b afaiearadde | D 3R M

TUD e MHARANAAR | A 3R C $d gl ThAlRIARAMAdR | C 3R D

PN IRY P A fRTARAT e lddg |

D

)

32) How many teachers take lectures between L and D?
32) L 3R D hdafhdifRresaaraidds ?

a) Two

b) One
TH

c) Three
GIG|

d) F!ve
BIE)

e) None of these

Solution:

From the given statements, N take lecture on an even date in the month which has 30
days. Two persons take lectures in between N and O. Here we have 2 possibilities i.e.,
Case 1 and Case 2. P does not take lecture before N. B takes lecture just before P but
not in the same month.



Months Dates Casel Case 2
Persons Persons

1

March 4 ]
5
1

June 4 N N

5 B B

1 P P

December 4 0

5

More than two persons take lectures between O and P. Now case 1 is ruled out. Both D
and M take lectures in the same month. One person takes the lecture in between A and
C. Not more than four persons take lectures in between C and D. So, the final
arrangement-

Months Dates Persons

s

March

June

December

Ok [ Lok [ [ LR b
Zow @200

33) Who among the following person takes a lecture just before O?
33) fFAfaRaaH®H 0 FHUGHHR G ?

a) L
b) A
c) D
d) M

e) None of these

Solution:

From the given statements, N take lecture on an even date in the month which has 30
days. Two persons take lectures in between N and O. Here we have 2 possibilities i.e.,
Case 1 and Case 2. P does not take lecture before N. B takes lecture just before P but
not in the same month.



Months Dates Casel Case 2
Persons Persons

1

March 4 ]
5
1

June 4 N N

5 B B

1 P P

December 4 0

5

More than two persons take lectures between O and P. Now case 1 is ruled out. Both D
and M take lectures in the same month. One person takes the lecture in between A and
C. Not more than four persons take lectures in between C and D. So, the final
arrangement-

Months Dates Persons
1 A
March 4 ]
5 C
1 L
June 4 N
5 B
1 P
December 4 D
5 M

34) How many persons take lectures in between N and C?
34) N 3R C HHHBdIA IR A8 ?

a) None _

b) One
Uh

c) Two

d) Three

e) None of these



Solution:

From the given statements, N take lecture on an even date in the month which has 30
days. Two persons take lectures in between N and O. Here we have 2 possibilities i.e.,
Case 1 and Case 2. P does not take lecture before N. B takes lecture just before P but
not in the same month.

Months Dates Case 1 Case 2
Persons Persons

1

March 4 8]
5
1

June 4 N N

5 B B

1 P P

December 4 0

5

More than two persons take lectures between O and P. Now case 1 is ruled out. Both D
and M take lectures in the same month. One person takes the lecture in between A and
C. Not more than four persons take lectures in between C and D. So, the final
arrangement-

Months Dates Persons

Ju

March

June

December

O | = | O o [ | L1 o
Zignwm|=2|eolo|=

35) Who among the following person definitely does not take lecture in March?
35) FEffRaTE S FR R T A R g g 2

a) O
b) P
c) A
d) L

e) Both (b) and (d)
MY (b) 3R (d)



Solution:

From the given statements, N take lecture on an even date in the month which has 30
days. Two persons take lectures in between N and O. Here we have 2 possibilities i.e.,
Case 1 and Case 2. P does not take lecture before N. B takes lecture just before P but
not in the same month.

Months Dates Case 1 Case 2
Persons Persons
1
March 4 8]
5
1
June 4 N N
5 B B
1 P P
December 4 0
5

More than two persons take lectures between O and P. Now case 1 is ruled out. Both D
and M take lectures in the same month. One person takes the lecture in between A and
C. Not more than four persons take lectures in between C and D. So, the final
arrangement-

Months Dates Persons
A

[a=y

March

June

December

(] = IS T | VO R TR
20w |wE|(=Z|e| o

Coding & Decoding

Direction (36-40) : Read the following information carefully to answer the given
guestions

In a certain code language:

‘Two child policy India’ is coded as ‘la pa zi ta’

‘Target child policy Two’ is coded as ‘pa zi la sa’

‘Promise policy uncertain work’ is coded as ‘na hi ga pa’

‘Two loop hole promise’ is coded as ‘zi mi jo ga’



Direction (36-40) : UG RIGIEYdd B SRR T IS h 3R
THMAIFdH U

‘Two child policy India’ Fl ‘la pa zita’ OD@LJH%CGI&IOMIUIMIS

‘Target child policy Two’ cak pa zila sa’ 0r><<\l—IH<33<:®Iq§I0h¢JIUIIdI6

‘Promise policy uncertain work’ ?l ‘na h| ga pa Oheﬁw-l@cclqglowlwlldls

‘Two loop hole promise’ B ‘zi mi joga’ 0r><<\l—IH<33<:®Iq§I0h¢JIUIIdI6

36) How will “Two target promise’ be coded in the given language?
36) SHTSUTITH ‘Two target promise’ B PAUBR PTG BATSITTI?

a) zilasa
b) zisaga
c) samijo
d) pa zi mi

e) None of these

Solution:

Word Code
Two zi
Child la
Policy pa
India ta
Target sa
Promise ga
Uncertain/Work | na/hi
Loop/Hole mi/jo

37) How will ‘promise policy work’ be coded in the given language?

37) SRTSHTYTH ‘promise policy work’ B PTTPRB TG BATSITYIT?

a) zilasa
b) zisaga
c) samijo

d) pa zi mi



e) None of these

Solution:

Word Code
Two zi
Child la
Policy pa
India ta
Target sa
Promise ga
Uncertain/Work | na/hi
Loop/Hole mi/jo

38) What does ‘pa’ stand for?
38) ‘pa’ BTHITAYR?

a) Target
b) Promise
c) Policy
d) Loop

e) None of these

Solution:

Word Code
Two zi
Child la
Policy pa
India ta
Target sa
Promise ga
Uncertain/Work | na/hi
Loop/Hole mi/jo




39) Which of the following will be coded as ‘na hi la’ in the given language?
39) SR HNHAARIRITHATGY na hi la' HETHH TG DHATOTTT?

a) Child policy work

b) Uncertain work child

c) Target child promise
d) Uncertain Two promise

e) None of these-

Solution:

Word Code
Two zi
Child la
Policy pa
India ta
Target sa
Promise ga
Uncertain/Work | na/hi
Loop/Hole mi/jo

40) What is the code for ‘ta’ stand for?
40) 'ta’ PIHCaTR?

a) India
b) Promise
c) Target
d) Work

e) None of these



Solution:

Word Code
Two zi
Child la
Policy pa
India ta
Target sa
Promise ga
Uncertain/Work | na/hi
Loop/Hole mi/jo

Numerical ability

Data Interpretation

Direction (41 to 45) : Read the data given below and answer the following
guestions.
The pie chart given below shows the distribution (in degree) of females in six companies
and bar graph shows the percentage distribution of males in given six companies.
Direction (41 to 45) :ﬁaﬁ@mﬁm@ml

PEVS e Sy R Sy M -

YeafaRal ﬂ%'ﬁf'ﬁ' R S Yot |

TOTAL FEMALE / el IlﬂTrlT =

2100

mA mB uC D mE mF




Total Males /el gad = 1800

30

5

20

15
| I I I
0
A B C D E F

41) Total no. of males in company B and D together are approximately what percentage
more or less than no. of females in same companies.

41) BT B 3R D
el

=]

LA

ARSI ereive,

e R T HI G TR sifsarsHg |
a) 32%

b) 34%

c) 36%

d) 38%

e) 40%



Solution:

Female in company A= % ® 2100 = 350

Male in company A = 15% of 1800 =270
Similarly we get all the values

Company | Females Males Total
A 350 270 620

B 420 360 780

C 280 180 460

D 525 225 750

E 315 450 765

F 210 315 525
Total 2100 1800 3900

Required percentage =

=3%0 « 100
945

@% ~ 380

42) Find the difference between total

(420%525)—(360+225)

(42Z0+525)

o

% 100

employee of company A and company C.

42) BT A fREGTH
a) 160
b) 140
c) 120
d) 150
e) 130

Solution:

C d’@ﬂcbl-l'dlli I

CEIEES

Female in company A= % ® 2100 = 350

Male in company A = 15% of 1800 =270
Similarly we get all the values

I\Hd(k‘lldd”ll\ﬂkl

Company | Females Males Total
A 350 270 620

B 420 360 780

C 280 180 460

D 525 225 750

E 315 450 765

F 210 315 525
Total 2100 1800 3900

Required difference = 620 — 460 = 160



43) Find the ratio of average no. of females in company B and F to average no. of males
in company B, D and F.

43) ST B 3R F AHfEarsfie S IduReah I B, D 3R F
AN ST ST foTd |

a) 21:23

b) 21:20
c) 22:25
d) 23:21
e) 25:21

Solution:
Female in company A= % ® 2100 = 350

Male in company A = 15% of 1800 =270
Similarly we get all the values

Company | Females Males Total
A 350 270 620
B 420 360 780
C 280 180 460
D 525 225 750
E 315 450 765
F 210 315 525
Total 2100 1800 3900
Average no. females in company Band F = 220210 — 315
Average no. of males in company B, D and F = w = 300
Required ratio = 315 : 300
= 21:20

44) If a male and a female manufacture 7 and 5 article per hour respectively in company
E, then find articles manufactured by males are what percentage of articles

manufactured by females in company E.
44)&%@@&@%@3@@5%%%:7@?5@%%@%@%5
flgE;Ei §R”E”ﬁf|a{ﬂ, HIEEIIﬂlgl?lﬁlﬁﬂm@&ilml%aq gfardg |

50%
a)



b) 100%

66> 04
C) 3

d) 200%

e) 150%

Solution:
Female in company A= % ® 2100 = 350

Male in company A = 15% of 1800 =270
Similarly we get all the values

Company | Females Males Total
A 350 270 620

B 420 360 780

C 280 180 460

D 525 225 750

E 315 450 765

F 210 315 525
Total 2100 1800 3900

Articles manufactured by males = 450 X 7 = 3150

Articles manufactured by females = 315 X 5 = 1575

So, required % = 2% - X 100 = 200%

45) 20% of the females of company A moved to C and 25% of the males of company C
moved to company A. Find the females in company C is how much more or less than
males in company A.

45) BT A Bt 20% AfRATT C HACNTSARGTAT C & 25% TETHUT A HATE IHUAT C
ArfRany, HU=t A HqREie e b 3ifimaraag |

a) 45

b) 42

c) 35

d) 33

e) 37



Solution:
Female in company A= % ® 2100 = 350

Male in company A = 15% of 1800 =270
Similarly we get all the values

Company | Females Males Total
A 350 270 620

B 420 360 780

C 280 180 460

D 525 225 750

E 315 450 765

F 210 315 525
Total 2100 1800 3900

Females in company C = 280 + % ¥ 350 = 350

Males in company A = 270 4+ 180 x % = 315
So, required difference = 350 — 315 = 35

probability

Q.46Find the probability of forming a two-digit number by using starting four prime
number such that it is divisible by three?

46) TRAHTTI BT H B IS TUBRUTNTB b ¢ |3 [ IIBATIT [T I [Tl
ICERECIRIERIEE IR

a) 1/3

b) 1/4
c) 5/16
d) 1/2
e) 3/8
Solution:
Starting four prime number =2, 3,5, 7
Total two-digit numbers can be formed =4 < 4 =16

Numbers which are divisible by 3
= {27,72, 57,75, 33}

Required probability = 15_6

percentage



Q.47An amount is divided among X, Y and Z. Amount of Y is average of other two and
when amount of Y is reduced by 20% of that of X, it becomes equal to that of Z. Find
amount of Z is what percent of total amount?

47) THIRABT X, Y 3R Z BeraaHIIdpamsidig | Y BRI, UGIhTeigag iR Y
aﬂﬂﬁﬁr szo%ﬁwﬂﬁ\—mﬂ% g Z PRIRIBSRISRE TG | Z BRI,

@ﬂ{IIQIOhIIOVJCI"IIHId-QIdS?

a) 20%
b) 22.5%
c) 25%
d) 27.5%
e) 30%

Solution:

Let the amount of X and Z be Rs a and b respectively

Amount of Y=222

ATQ

athb _ = —h

2 B
5b=3a

Amount of X=Rs 5p
Amount of Z=Rs 3p
Amount of Y= Rs 4p
Required %=25%

Profit & loss

Q.48Retailer mark up an article 35% above its cost price and earn Rs 96 by giving 20%
discount on the marked price. If he sells article at 15% discount on marked price then,
find retailer’s profit on selling one article.

48) HeIRIAD AT D ST HITY 35% HdH HfradmRdrg R 3ifHFaaeamR 20%
@?éao‘{ 96 Waﬁhw%|wﬁa€a{m 1506 HIPCIRIIIIATE,
ATH RIS TTIRG DRI dh T IATHIITCID ToTT

a) 118
b) 177
c) 236

d) 214



e) 154

Solution:

Let cost price of an article = 100x
Mark price of an article = 100x x iz = 135x

ATQ,
80
135x ¥ — — 100x = 96
100
= 108x - 100x =96
=>x=2=12
Retailer's profit if he sells article at 15% discount
85
= 135x x —— 100x
100

=114.75x - 100x
=14.75x
=14.75x 12
=177

Problems on Ages

Q.49Present age of Amit is 50% more than Manish’s present age while 5 years ago
Amit’'s age was twice than that of Manish’s age at that time. Five years hence, sum of
ages of Manish and Amit is equal to Lalit's age at that time, then find present age of

Lalit?

49) ATDIATAHINY, FYDITAHHSTY 50% 3fidhesiaiss 5 qHuga A g,
Bﬂﬂmﬁw&mﬂﬁmmﬂaﬁaﬁ: TSR SIS SIS,
IUTATATIAD ST BERIERS, eI A A TIRITAB TS |

a) 35
b) 40
c) 20
d) 25

e) 30



Solution:

Let present age of Manish = x

= Present age of Amit = 1.5x

Manish's age five yearsago=x-5

Amit's age five years ago = 2(x—5)

=2x-10

But amit’s age five years ago also equals to (1.5x - 5)
= 2x-10=1.5x-5

= 0.5x=5

=x=10

Lalit's age five years hence =10+ 5+ 1.5x 10+ 5
=15+15+5

=35

Lalit's present age =35-5=30

Time and Work

Q.50Neha who is 50% more efficient than Ritu who take double time than Priya to
complete a work. Neha can complete a work in ‘X’ days while Priya can complete the
same work in (x — 15) days. In how many days all three can completes the same work
together?

50) 8T, Re& 509 SMABHHIGICTR, SNTHDHGRIBIAD RIUNTRIETARHIAR 6T X

e AU B TR D i g oTal o (TG (x - 15)
- | FNENC GRS -

a) 36 days
36 fa1

b) 30 days
30 f&=1

c) 22.5days

225 faq

d) 20 days
20 f&1

e) 18 days

18 faa



Solution:
Ratio of efficiency of Neha and Ritu=15:10=3: 2
Ratio of time taken by Neha and Ritu alone to complete the work=2: 3
Ratio of time taken by Ritu and Priya alone to complete the work=2:1

= Ratio of time taken by Neha, Ritu and Priya alone to complete the work=4:6:3

ATQ,
4 x

3 x—15

= 4x—60 = 3Ix

=x=60

Neha alone can do the work in 60 days

Priva alone can do the work in (60 - 15 = 45 days)

Ritu alone can do the work = i—u ® 6 = 90 days

Work done by Neha, Priya and Ritu together in one day
1 1 1 3+4+4+2

_6ﬂ+4—5 90 180
9 1

T 180 20
Time taken by Neha, Priva & Ritu together to complete the work = 20 days

Quantity Q1 and Quantity Q2

Direction(51-55):In the given questions, two quantities
are given, one as ‘Quantity I’ and another as ‘Quantity
Il’. You have to determine relationship between two

quantities and choose the appropriate option:
Direction(51-55):[ 0[] ) JOOOOOO0 DO, O

DO0O0000 00 D0 D00, 00 'Doo0oa 1 00 D00 000

D0 00000 "Doo0oo 0 0o 000 D000 0000 0o

HHOOHOOH Do oD HOooL UUoooooon booo U

U DHHOOHO UHOoHn Doood oe:



51)

Quantity I: Distance in km. A person covers a distance
with the speed of 2.5 meters/second in 1 hours 30
minutes and 40 second. find distance covered by him.
Quantity Il: 14 km

51)
NO0000 1: 0000 000 00000 OO0 0000000 2.5

DO00/00000 00 000 00 1 0000 30 0000 00 40
HHOOH OO0 D0 OO0 0o Hood 0on Dooo doodon
LU 00 U0 OO0 Hoddn 0oodon

CEEEEE e 14 TR

1. Quantity | > Quantity Il
COOCH > DoHooe

2. Quantity | < Quantity |l
CHOOCOO T < Dooooe

3. Quantity | 2 Quantity Il
HOOOHE T > DOCoEe

4. Quantity | < Quantity Il
DOCHO0 < Dooods



5. Quantity | = Quantity Il or no relation
DO00O00 | = 000000 1 0o D00 00000 bood

Solution:
18 S440

Quantity I: Required distance = 2.5 X — x —

5 3600
=13.6 km

Quantity II: 14 km

So, Quantity I < Quantity II

52)

Quantity I: Ratio between expenditure and savings of a
person is 5 :4. If hisincome is increased by 15% and
expenditure increased by 20%, then find increased
percentage in savings.

Quantity Il: 8%

52)

N00000 1: 00 0000000 00 0000 00 000 00 000
0 000000 524 D00 D00 D000 00 000 15% 00
N00000 0000 00 00 0000 000 20% 00 000000

HHU0 UL, 0H oy Uod HoooonD H0ooood Hodon
BN EEN

HEEEEIET 1 8%



1. Quantity | > Quantity Il
HOOOO0 > HosoEe

2. Quantity | < Quantity Il
DO T < s

3. Quantity | 2 Quantity |l
CHCEEE T2 COEsoe o

4. Quantity | £ Quantity |l
OO T < CIOEEEe o

5. Quantity | = Quantity Il or no relation
N O O

Solution:
Quantity I: let his expenditure and savings be Rs 5x and Rs 4x respectively.
ATQ
Increased income = (5x + 4x) X % = Rs 10.35x
And increased expenditure = 5x X % = 6x
So, new savings = 10.35x — 6x = Rs 4.35x
required percentage = 4'35‘:4;‘ » 100 = %%
= 8.75%%

Quantity I1: 8%
So, Quantity [ = Quantity I



53)

Tap A can fill a tank in 2.5 hrs. but due to a leak in
bottom of tank it takes 10 hrs. more to fill the tank. If
from the leak water is running at 50 lit/hr.

Quantity I: Find capacity of tank.

Quantity Il: 156.25 liters

53)
DO A D0 D000 U0 2.5 OOOH OO0 U0 0000 000
HHOOH OO0 OH D0 UU0 U0ooD 00 DoO0 Do0 0ooo

L0010 OUO0 D0 OO0 D000 OOod OO Doooo o
0000 50 OOO0/0000 00 00 000 00O

HOOHod s HOH OU DUUoo0 DOooD odood
HOHEEET N 156.25 CIEIE

1. Quantity | > Quantity Il
COOCH > Dooooe

2. Quantity | < Quantity Il
DOoHO0 T < DoDooo

3. Quantity | 2 Quantity Il
HOOOHE T > DOCoEe



4. Quantity | £ Quantity Il
HOCHOE < Dodods

5. Quantity | = Quantity Il or no relation
HDHOOOO 1 = 000000 1 0D 000 00000 Dood

Solution:

Let capacity of tank = 12.5x lit

12.5 -
* = 5xlit/hr
25

Efficiency of tap A=

2

Efficiency of tap A and leak together = 1—5: =x lit/hr
ATQ, '

[5x- %) lit/hr = 50 lit/hr

12.5xlit= = X 12.5x = 156.25 it

Quantity I: 156.25 liters
Quantity II: 156.25 liters
So, Quantity [ = Quantity I

54)

Quantity I: Hemant marks up an article 40% above cost
price and he gives 12% discount instead of 18% and
earn Rs. 42 more. Mark price of article is how much
more than cost price.

Quantity Il: Rs. 200

54)

HHOHoH 1 DOOU0 Uo Uodoo Do Hooo 00000 0o
40% [T Doney ooy et 0 18% LI HIEIEET 12%
D0 U000 o0 U0 0H 42 U0, U000 00000 Oo0



HHOHH OO HoooD toood DUDD dUodUd oo Hodon
HOoo od?
HEEETE e 200 LT

1. Quantity | > Quantity |
OO > e i

2. Quantity | < Quantity Il
OO0 T < DoooHoE

3. Quantity | = Quantity Il
DO T2 DO o

4. Quantity | £ Quantity |l
CHOEHE T < COEEoe o

5. Quantity | = Quantity Il or no relation
HOOOOO 1 = 0OOOdd 1 00 000 00000 000



Solution:

Quantity I: let cost price of article = Rs. 100a

Marked price of article = 100a x ﬁ = Rs.140a

ATQ
140a X -2 _ 140a X —= = 42
1ad

100
140a X — = 42
100
_ 42x100

140%6
a = 5 Rs.

Required difference = 40a = Rs. 200
Quantity II: Rs. 200
5o, Quantity [ = Quantity 11

55)

Quantity I: Time (in months): A invests Rs 25,600 at Cl
at the rate of 12.5% per annum and after some time he

got Rs 6800 as interest.
Quantity Il: 20 Months

55)

DOO000 1: D00 (DO0000 OOO): A,

HOOOOOO0M 12.5% U0 U0 D0 Dooo0ooood oo
111 25,600 UHOHD OO HHOHD DOdH U0 00 000 fo
HH0 U0 6800 LN HhHHH Ho Hod DL HHoHn

BN
HOHEEE e 20 CIECEE]



1. Quantity | > Quantity Il
HOOOO0 > HosoEe

2. Quantity | < Quantity Il
DO T < s

3. Quantity | 2 Quantity |l
CHCEEE T2 COEsoe o

4. Quantity | £ Quantity |l
OO T < CIOEEEe o

5. Quantity | = Quantity Il or no relation
N O O

Solution:

Quantity I: Let time be T years.

T
25600 [(1 +ﬁ) _ 1] — 6300

(1+5%) —1=5%

Q-
o -2
39 . 549 )
G =G
So,time =T = 2 years = 24 Months

Quantity II: 20 Months
So, Quantity I = Quantity II



Simplification and Approximation

Direction (56-60): What approximate value should
come in the place of the question mark ‘?’ in the
following questions? (You are not expected to
calculate the exact value.)

Direction(56-60): 00000 DOOOOOOD DOE
DOO0ODO00O0D 0OO0o0D =2 D0 0000 D0 D000 0oooo
OO0 D00 DO00O 2 (D000 0000 000 00 0000 D000
D000 DOO)

56)

18.09 + 27.02 x 8.999 + (17.979)2 =7

1.310

2.330

3.318



4. 350

5. 343

Solution:

181%19+324%?
76+ 324
7 %330

57)

120.09% of 854.8 + 17994 of 555.4 =72

1.55

2.40

3.45

4.50



5.35

Solution:
120 180

~= % 855+ —x 555 & 72
100 100

1026 + 999 & 7%
72 % 2025
? &45

58)

(4.04)% + (15.95]5 + (8.08)° =7+117.89

1.12
2.18
3.21
4.15
5.13

Solution:
64+2+64=?+118



?=130-118
?=12

59)

%% of 67199 - g of 644.96 = 7

1.132

2. 140

3.144

4.126

5.120

Solution:

2 % 67200 -2 x 645 &7
700 5

384 - 258 & ?

77126



60)

(14.96)% — /1155 + {126 =7°

1.9

2.14

3.20

4.18

5.7

Solution:

(15)% — 1156 + V125 =72
225-34+ 5~ 72

7 & 196

7814

Number Series

Direction(61-65):What will come in the place of question (?) mark in
following number series.



Direction(61-65):fafeiad de grae & usfg (?) & R UR 1 e |
61)

567,571, ? , 623, 687, 787

1.615

2.599

3. 587

4. 601

5. 593

Solution:
Pattern of series -

567 571 623 687 787
| 4| A 4 )

+22 +42 +62 +82 +10°

62)
167, 118, 76, 42, ?, -4

1.17
2.14
3.18
4.16
5.25

Solution:
Pattern of series -

167 118 76 42 -1

A R A

132-2 112-3 s

]
=]
e |
tn

F
—
)
s )



63)

?, 120, 134, 160, 204, 272
1.112
2.104
3. 106
4.114
5. 100

Solution:

Pattern of series -

120 134 160 204 272
4 4| 4| A 4
+8 +14 +26 +44 +H8
l A Al 4 4

+6 +12 +18 +24

64)

5,7, 2067, 2411, 2537, 2565
1. 1337

2.1327

3.1317

4.1307

5. 1347



Solution:
Pattern of series -
+(113+1), +(93+1), +(73+1), +(5%+1), +(33+1),
So, 5+ (11% + 1) =1337

65)
427, ? , 366, 73.2, 292.8, 97.6

1.51
2.41
3.61
4. 71
5.31

Solution:
Pattern of series -

+7, %6, +5, x4, +3, ...
So, 427 + 7 =61

Areas and Volumes

66) If the curved surface area of a cylindrical vessel is 1760 cm? and the ratio of height
to the radius of the cylindrical vessel is 10:7 respectively, then find the volume of the

o (in cm)?
cylindrical vessel

66) TlGUBSAIIDBRITIDIGHYYIILADB 1760 FHT2
BRI RETD 1 TS IR AITDBISUAHHTT: 10:7 §,

RIENGICAPEREEAC RG] GEl ﬁjsnaaﬂﬁlm

a) 12500

b) 12480
c) 12320

d) 12720



e) 12840

Solution:
Let height & radius of cylindrical vessel be

10x cm & 7% cm respectively.
ATQ,

2xE x 7x X 10x = 1760

x2 =a4

x=2

Required volume = z_?: % (7x)% x 10x
=2 x(7x2)2x10x2

= 1J232D cm?

compound interest

67) Shivam invested Rs.X in a scheme offering 20% p.a. at Cl compounding annually

for 3 years. If the interest earned in third year only is Rs. 21600, then find X.

67)) FRIam 3 audfAuaia U aISaamgiasmeaR 20%
Ui ORI YA ST X ST HARI BT i add IR ayH ISTdsaTsT 21600
SUdR, 1 X JdSIfo|

a) 60,000
b) 75,000
c) 55,000

d) 70,000



e) 65,000

Solution:
Equivalent interest rate of 2004 p.a. at CI

for two years = (20 + 20 + zux:n} %%

100
= 4404
And, equivalent interest rate of 20% p.a. at CI for

three years = (44 + 20+ 44x2n) %%

100
= 72.8%
ATQ,

Xx72.8 Xxa4

100 100
__ 2160000

28.8
X = 75,000 Rs.

= 21600

Profit & loss

68)A shopkeeper sold a table at 40% discount and thus making a loss of 10%. If he
gives a discount equals to half of the previous discount then he makes a profit of Rs. 60.
Find at what price shopkeeper should sell the table to make a profit of 25%7?

68) THGHMGRAUHHID! 40% FCIRSATSIRGITDR 10%
[afeagUBdigedaibaRaRgeadiaddy 60

FTABIATHRIAT ST MU P g R 25%

BHIAHBHHHB U B HD I HAURHSS A g U ?

a) 600 Rs./ 600 TTT
b) 540 Rs./ 540 ¥TY
c) 375Rs./ 375300
d) 360 Rs./ 360 TU4

e) 480 Rs./ 480 ¥UY



Solution:

Let mark price of table = Rs. 100x

After discount of 40%, selling price of table = 100xx60

= Rs.60x

Given, loss on selling table at 40% discount = 10%

Cost price of table = EE ¥ 100 = Rs. ﬂx e (1)

When table is sold at ha]fdlscaunt, i.e. 20% discount, then:
Selling price of table = 100+>89 — Rs. 80x

Cost price of table = 80x - 60 (i)
Comparing (i) & (ii):

200x

3
x =405 Rs,

= 80x — 60

Cost price of table = % ® 4.5 = Rs.300

So, required selling price = 300 x % = 375 Rs.

Problems on Averages

69)In a class there are 60 girls and 30 boys, and the total average weight of class
2

is # kg. If the average weight of boys is 56 kg, then find the difference between the
average weight of one boy and one girl?

69) THBETH 60 TSHIMR 30 L

SRBEI TR TG A TTST 83 : foruTe [T HIBINTAUR 56 fBe,
ATHASHHRUBASHI b HHAHR B dDISRITADIO |

a) 11 kg/11 fooum
b) 9 kg/9 fopur
c) 15 kg/15 fopur

d) 10 kg/10 fopur

e) None of these/ gﬂ'ﬁ@?ﬁgﬁéﬁ



Solution:
146

Total weight of class = (60 + 30) x — = 4380 kg
Total weight of boys =30 % 56 = 168[} kg
(4380-1680)

So, weight of one girl = =45ke
Required difference =56 - 45=11 kg

Partnership

70) Veer, Aayush and shivam entered into a business and invested in the ratio of a : 12
: 15 respectively. If time period for which Veer, Aayush and shivam invested is in the
ratio of 12: 10 : b respectively and the profit share of Veer, Aayush and shivam is same,
then find ‘a-b’?

70) AR, MY SRRITHIUHHTAIHYARIBATRGHA:a : 12 : 15
%@rﬂcnaﬁﬁéﬁr%mm%ﬁ? YR RIAHGRIARIS RTHAEfIHHR: 12 : 10 : b
FHIUTHEMRAR, TR RIaHGITHRRRHMR, dl 'a-b' DI

a) 4
b) 3
c) 5
d 2
e) None of these
Solution:
Profit sharing ratio of Veer, Aayush and Shivam =
Veer Aayush Shivam
Investment a : 12 : 15
Time 12 : 10 : b
12a 120 15hb
Now given,
12a =120
a=10
And, 120 = 15b
b=28

so,a—-b=10-8=2



Quadratic equations

Direction (71-75) : In the following questions two equations numbered (I) and
(I) are given. You have to solve both equations and

Direction (71-75) :fFrafaf@ausiaerasiezor (1) 3R (11)

AT I eUE TR B lga® T SiRSTR TR -

Give answer

71)
(i) 4x* —17x +18=0

(i) 2y* — 11y +15=0

a) ifx>y
X>y

b) ifx=y
X2y

c) ifx<y
X<y

d) ifx<y
XSy

e) Ifx=yorthe r_elationship'cannot be established
i x = y INid

Solution:

(i) 4x*—17x+18=0
4x* —9x —8x +18=0
x[4x —9] —2[4x—-9] =0

9
[4x —9][x—2]=0=x= 2.;
(ii) 2y* — 11y +15=10
2y* —5y—6y+15=10
v[2y —5]—3[2y—5]=0
5
2y =5Slly=3]1=0=y=37

vy x



(i) 3x* —18x—48 =0

72) (i) 4y* + 8y —32=0

a) ifx>y

afg x>y

b) ifx=y
U%ny

c) ifx<y

afd x<y

d) ifx<y
EI'%XSy

e) If x=y or the relationship cannot be established

Tfg x = y RS URITUAG [ ATl

Solution:

(i)3x?—18x—48=0
=x*—6x—16=0
x*—8Bx+2x—16=0
x[x—8]+2[x—8]=0
[x+2][x—8]=0=x=8-2

(ii) 4y* + 8y —32=10
=y?+2y—8=0
yi4+4y—2y—8=0
viv+4]-2[y+4]=0
[v+4lly—2]=0
y=—472
No relation can be established.

() 3x% +42x + 144 =0
ar 2 _ —
73) (ii) 4y= — 8y = 192
a) ifx>y

X>y

b) ifx2y
X2y



c) ifx<y
X<y

d) ifx<y
XSy

e) Ifx =y orthe relationship cannot be established

i x = y IR YR AR b TSIl

Solution:

(i) 3x% +42x + 144 =0
= x*+14x+48=0
=x*+8x+6x+48=0
x[x+8]+6[x+8]=0
[x+8][x+6]=0
=x=—6,—8

(ii) 4y* — 8y = 192
yi—2y—48=0
y:'—8y+6y—48=10
yvlyv—8l+ely—8]=0
[v-8lly+6]=0
=y =8,—-6

y=x

(i) x* — 19x = 42
74) (i) 2v* + 38y = 84

a) ifx>y

g x>y

b) ifx2y
gfd x>y

c) ifx<y
gfdx <y

d) ifx<y
X<y



e) If x =y or the relationship cannot be established

Tfg x = y IR URITUaTa [ AT &l

Solution:

(i)x*—19x—42=0
xf—21x+2x—42=0
x[x—21]+2[x—-21] =0
[x —21][x + 2] =0
x=21,-2

(ii) 2y* + 38y — 84 =0
2y + 42y —4y—84=0
2y[y+21] —4[y+ 21] =0
[v+21][2v—4]=0
yv=-21,2
No relation can be established

(i) x>z = 125
75) (i) y% + 5y = 750

a) ifx>y

g x>y

b) ifx>y
qﬁny

c) ifx<y
gfdx <y

d) ifxs<y
gfgx<y

e) Ifx=yorthe relatlonshlp cannot be established
g x = y I



Solution:

(i) x5 = 125
=x =25

(i) ¥* + 5y — 750 =0
v2+ 30y — 25y —750=0
yv[v +30] —25[y +30] =0
[v+30][v—25]=0
y =—30,25
x=vy

Data Interpretation

Direction (76 to 80) :Line-graph shows number of people (in hundred) using
two different types of bike services over the years. Study the given line graph
carefully and answer the questions given below:

Direction (76 to 80) : @Ig- EMENUE
GIQ1‘IHOde)IdI‘éd)HId{-IdOIdLMI‘Id’)(ﬂdlﬂoblldrlbll (Hd)SH)

DGR TS T S T ® ST H L SR U I H 3 TRa

. e~
:n ./\ / \u

30

20

2014 2015 2016 2017 2018

ol TS ==l HOMDA

76) What is the average no. of people using the HONDA bike service in all over the
years?

ORI S EIEC R E R LA R R CRE EIN S EN DI CA K R R R R I oI Ei e



a) 6400
b) 4900
c) 5800
d) 6125
e) 6800

Solution:
Required average = (?ﬂ+au+&5+555++u:nxmﬂ — 5800

77) Find the ratio of no. of people using the HONDA service in year 2015 and 2016
together to no. of people using the TVS service |n year 2017 and 2014 together
77) a'Gf 2015 Gﬁ? 2016 HIHNI@QGISIHIOIHQJIGMHI‘Id)(ﬂdlﬂoqlddqm{-l@tld?ldu 2017 G-ﬁT

2014 BRI T[T HB IS TN TR T RTa o BT S UT IR

a) 4:5

b) 3:4
c) 5:4
d 6:5
e 4:3

Solution:

. . 600046500 _ &
Required ratio = ———— = -
5500+4500 4

78) What is the difference between no. of people using TVS service all over the years
(excluding 2016) and no. of people using HONDA service all over the years (excluding
2015)?

78) NI B IS UG RaIa [aaqdich RIRSTT (2016 HIBISHR)
aﬁwﬂ@@mﬁxmwwmaﬂ;@ﬂ (2015 DHIBISH) HaGAdRTITR?

a) 2000
b) 2500

c) 3500



d) 1500
e) none of these

Solution:
Required difference =(7000+6500+5500+4000)-(4500+5000+5500+6000)
=2000

79) Total bike service in year 2018 is what percentage more/less than the total bike
service in year 2014 andr§015 together?

79) a¥ 2018 HpaaRHAay, ay 2014 3R 2015

U e oC 0O\ o\

J-IIJ-IQ'1Idvighﬂdlsom-lIdHHId)d*IHIdQIdW/HWI%?

Y

Solution:

. 22500-10000
Required percentage = ——— % 100
22500
500

_csS
=79 = 552%

80) If per service cost of TVS is 20% more than HONDA, then total service cost of TVS
in year 2015 is what percent of total service cost of HONDA in same year?
80) Af A TTSH AU dTANTdg IS 20% 3ifefdg, Ay 2015 AT IpadaanTd,
[ ?
a) 125%
b) 150%
c) 200%

d) 100%



e) 50%

Solution:
Let per service cost of HONDA be ‘%’

ATQ
1.2x(5000)

Required percentage = EPrr— #* 100

= 100%



